
Subject: DBZ Parody
Posted by Nightma12 on Tue, 25 Jan 2005 19:29:38 GMT
View Forum Message <> Reply to Message

why is cell expecting to destroy the earth without being in perfect form?   (wouldnt he be after the
androids?)

why did goku have more trouble with friza than with cell? 

why is friza only in his 3rd form?   

arnt they dead?   (They were never alive at the same time)

how did goku turn into gogeta without doing the fusion dance?   

dunno about you guys, but it looks to me as if they are taking the piss   

i liked the bit about krillen though being a bald human though 

EDIT: i perfer this 

http://www.newgrounds.com/portal/view.php?id=178601 

uses sound clips from the show  

Page 1 of 1 ---- Generated from Command and Conquer: Renegade Official Forums

http://renegadeforums.com/index.php?t=usrinfo&id=1350
http://renegadeforums.com/index.php?t=rview&th=13511&goto=134333#msg_134333
http://renegadeforums.com/index.php?t=post&reply_to=134333
http://renegadeforums.com/index.php

